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770,000 = 23| 1,540
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OJA ZHI| SolEA 1,000,000& 1,000
Oreza 7,500,000& * 102 75,000
OB & HW24I| X224 2,000,000 2,000
OB MHZISA 4,000,000& * 2CH 8,000
Oadte=22 7,500,000& * 10& 75,000
O4+9% +3 HEI 4N P
1,300,000& = 24 2,600
Oxdd& &=2tEHI OIHH 7 2,500,000 2,500
Od& 45 FHFED 221 900,000& * 204 1,800
OAN&EH SXEE4H 25,000,000& 25,000
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01 A& HI 40,000 0 40,000
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6,000,000 6,000
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15,000,000& 15,000
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| 12,000,000& * 200 & 24,000
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201 et 79,606 98,734 A 19,128
01 At 22l 47,756 36,524 11,232
OMARC(DIHIDI S SNSE) 2 =8
500& = 2,000 1,000
OZ22% 1=t 500,000& = 149H 7,000
oda=)l gz 46,000% * 5CH = 128 2,760
OEAMZ 383 ¥ 1,100& * 2,000 2,200
OZMZtelAIAE DBMS 222 2told A
1,700,000 1,700
OZAMelAZ RFIDEHD & 500& * 5,000 2,500
O=MNEel A2E(SSetd 2 98)
400& = 5,000 2,000
Ozkgsz 350,000 * 123 4,200
O=22elE MEZ 66,000& = 12& 792
OMESI1Dl gtz 60,000 * 123 720
OANMEENZ 28 A3 3,000,000& 3,000
OMZ2R=E 17,000& = 113 » 12& 2,244
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10,000& * 1,000& 10,000
Ooglltds (M) =2
11,000& » 208 = 12&€ 2,640
OFJIZES(HER) =2 5,000,000& 5,000
02 =224l 31,850 62,210 A 30,360
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470,000& = 12& 5,640
OEAM2el EESANAE KRS
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202 (4] 3,000 3,500 A 500
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OEAFY 10,000& = 2,000 20,000
N2 29 19,838 34,954 N 15,116
201 LEt2 Y| 16,838 27,374 A 10,536
01 AP 2t2l bl 4,418 9,504 AN5,086
odasd gz 45,000 = 304 = 128 1,620
OENE2 A2F 500& * 500 250
ORoMIFZH E49H| 120,000& * 12& 1,440
OxE== 17,000& * 2& * 128 408
OX2SEANS 29 A2F 700,000& 700
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Oadte=22 50,000& = 10& 500
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OsHe3 160,000& * 12& 1,920
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201 et A H| 4,500 23,580 A 19,080
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100,000& * 20 & 2,000
OsSHMS3 220 22 N&EAHS
560,000& 560
OSAHNEs 2208 222 MZ
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500,000& 500
301 et X = 29,660 0 29,660
12 JIEtE &2 29,660 0 29,660
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90,000 = 84 &t = 83l 5,760
O=718 Es 2208 ZAE
500,000& * 163l 8,000
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Fud T2 29 15,000 15,000 0
201 LBt 12,500 15,000 A 2,500
01 At 22l 12,500 15,000 A 2,500
OBUZ, 2HAPE 29 L 22|
12,500, 000& 12,500
405 RHoHF S HI 2,500 0 2,500
01 et EZFH S 2,500 0 2,500
O B28 A2 2,500,000& 2,500
SAE Ald2e] 28,272 0 28,272
201 Let2d] 28,272 0 28,272
01 At 22l 7,372 0 7,372
odlal ¢z 18,0004 = 1404 = 123 3,024
ONBENZ SEA S 85 2
2,000,000& 2,000
OMI| +HE ZYHMEE 2 500,008 500
OZ20I18 A2 A& s2J| =X&el SHH|
154,000& * 128 1,848
02 222l 20,900 0 20,900
ONAR= 1,000,000& * 108 10,000
OGN M 23 At 4,000,000& 4,000
OAIZ2 ZHl |RXE=Hl 6,000,000 6,000
OZ0ISHSTHT YHgI| FA8AY
150,000& * 604 900
HE2AIH (S MHMSHH)(IIEHIIEH 76,332 98,100 A21,768
el 2 54,432 72,200 A17,768
SEAMSHE Al 54,432 69,800 A 15,368
101 124 dl 54,432 69,800 A 15,368
03 SR (RIHY)22HE S 54,432 69,800 A 15,368
022 §Y284g
18,0003 = 182 = 8AIZt = 21 54,432
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JlE&l 21,900 25,900 A 4,000
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OARE =87 2U= 250,000& = 12& 3,000
202 oddl 2,300 4,000 A 1,700
01 = LH o4 1l 2,300 4,000 A1,700
O=UW0 bl 2,300,000 2,300
203 YR =2t 7,300 7,100 200
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OFJINH = 40,0003 = 43YH 1,720
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